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\. Uy = Sy + Yettr, o<Xx<T,t>0
u(x/ o) = ex/ ut(x/ °) = uX(ol t) = t/ ux(n/ t) = \

Vo Uy + Uy + Uzy = XYZ, < Xx,Y,z<)
uC,y,z2) =vyz, uy(\y,z)=-,
uy(x,°,z) =xz, u(x,\,z)=-,
u(x,y,°)=xy, u(x,y\)=-

Vo Up = Uyy + Uyt — Unayy + XYE, <X, YL\, t2>e
u(x,y,°) = xy",
uy =yt, u = uy| =xt, uyl =o
x=o x=) y=e y=)
¥ Up = Uy + Uppy — U+ 10(x — 3), o< X< T, E>0

ulx,°)=x, ux,°)=\, ul,t)y=t, uy(mt)=\

O. Ut = Uy + Uy — Uyyyy — YU + XYE, o< X,Y<T, E>0
u(x,y,°) =yo(x—<), ulx,y,°) =x6(x—3),
uy(e,y,t) =yo(t-"y), u(m,y,t)=yt,
uy(x,o,t) =to(x - 3), u(x,m,t)=t"6(x - 3).




